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DOUBLE GENERALIZATION FOR TSINTSIFAS’ INEQUALITY AND BĂTINEȚU’S 

INEQUALITY 

If ࢟,࢞,࢝,࢜,࢛,࢖,࢔,࢓, ࢠ > 0,݉ + ݔ ≥ ,ݑݐ ݊ + ݕ ≥ ݌,ݑݐ + ݖ ≥ ,ݑݐ ݔ + ݕ + ݖ ≤ ,ݒݐ ࢛2 ≥  ࢜

then in ઢࡲ,࡯࡮࡭ – area, the following relationship holds: 
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From Bergström’s inequality: ࢇ
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and ∑ࢇ૛ = ૛(࢙૛ − ૛࢘ − ૝(3)  (࢘ࡾ 

From (1)+(2)+(3)⇒ ࢓
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we must show ࢛
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⇔ ૝࢙࢛૛ − ૛࢙)࢜૛ − ૛࢘ − ૝࢘ࡾ) ≥ ૚૛√૜ࡲ࢛ − ૝√૜ࡲ࢜ ⇔ 

૝࢛൫࢙૛ − ૜√૜ࡲ൯ ≥ ૛࢜൫࢙૛ − ૛࢘ − ૝࢘ࡾ − ૛√૜ࡲ൯
࢛૛	࢚࢛࡮ ≥ ࢜ ⇔ ૝࢛ ≥ ૛࢜

ൠ ⇒ we must show: 

૛࢙ − ૜√૜ࡲ ≥ ૛࢙ − ૛࢘ − ૝࢘ࡾ − ૛√૜ࡲ ⇔ 

⇔ ૛࢘ + ૝࢘ࡾ ≥ √૜ࡲ ⇔ ࡾ૝)࢘ + (࢘ ≥ √૜࢙࢘ ⇔ ૝ࡾ + ࢘ ≥ √૜࢙, true because it is 

Doucet’s inequality. 

 

 


